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TOTAL MARKS : 200 TOTAL NO OF QUESTIONS : 200

QID : 201 - In the following question, select the related word from the given alternatives.
Punjab : Bhangra: : Gujarat: ?
frafafed uy # 3T U fawedl 7 § efia 2reg & g el

USITS : HITST : : ORI : ?
Options:
1) Bihu

2) Garba
TRdl
3) Ghumar

TR
4) Kathak

DYH

Correct Answer: Garba
TR

Candidate Answer: Garba
TRAT

QID : 202 - In the following question, select the related word from the given alternatives.
Weak : Feeble : : Large : ?

Frafefed gy # few e fasedl & 9 T weg &1 gHT

HHR : eftor: : fammmer: 2

Options:

1) Strong

RIGSRIKE

2) Insignificant

3) Colossal

4) Teeny

§gd Bl

Correct Answer: Colossal

Candidate Answer: Colossal

QID : 203 - In the following question, select the related letters from the given alternatives.
INQV:JPTZ:: HNSG:?

frafafed uy ¥ 3T e fawedl & & Wit sierl &1 gfu)

INQV:JPTZ:: HNSG:?

Options:

1) IPVK

2) PIVK

3) IPKV

4) IRVK
Correct Answer: IPVK
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Candidate Answer: IPVK

QID : 204 - In the following question, select the related letters from the given alternatives.
GHIJ: HJIL::NOPQ:?
frafafed uy ¥ 3T U fawedl & @ Wit sierl &1 gfu)

GHIJ: HJJL:: NOPQ:?

Options:
1) 0QQS

2) 0SSQ
3) PPRS

4) 0QsQ
Correct Answer: OQQS
Candidate Answer: OQQS

QID : 205 - In the following question, select the related number from the given alternatives.

6:216::5:?

frafaiad wy § fu 7 fiwedl & § defia dem &1 ghul
6:216::5:?

Options:

1) 125

2) 50

3)75

4) 150
Correct Answer: 125
Candidate Answer: 125

QID : 206 - In the following question, select the related number from the given alternatives.

107:11449::106: ?
fafafad uy o fou e fawedl & & Heifta e &1 gl
107:11449::106: ?

Options:

1) 10636

2) 11206

3) 11236

4) 11272
Correct Answer: 11236
Candidate Answer: 11236

QID : 207 - In the following question, select the odd word from the given alternatives.

frafared oy ¥ 3T U fawedl 3§ 9 fawy w1sg &1 gful
Options:

1) Walls

2) Doors

3) Flbor

4) Foundation

Correct Answer: Foundation

Candidate Answer: Foundation
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QID : 208 - In the following question, select the odd word pair from the given alternatives.

frofaraa uy o f3u e fawedl & 9 fawy wse gm & gl
Options:

1) Clouds : Rain

qed : auf

2) Injury : Pain

g : Eﬁ

3) Boiling : Evaporation

[SEREIIN

4) Freezing : Cold

SHAT : ST

Correct Answer: Freezing : Cold
SHAT : ST

Candidate Answer: Freezing : Cold
SHAT : ST

QID : 209 - In the following question, select the odd letters from the given alternatives.

frofefad vy & i3 T fawed & § faww siert &t gful
Options:

1) DU

2) KP

3)1Q

4) GT

Correct Answer: DU

Candidate Answer: DU

QID : 210 - In the following question, select the odd letters from the given alternatives.

Frofared oy & i3 e fawedt & 9 fawy siert & gl
Options:

1) IM

2) DH

3) MS

4) UY

Correct Answer: MS

Candidate Answer: MS

QID : 211 - In the following question, select the odd number pair from the given alternatives.

frafared oy ¥ 3T U fawedl & 9 fawy @ gm & g
Options:
1) 121 - 196

2) 441 - 484
3)25-36

4) 169 - 196
Correct Answer: 121 — 196
Candidate Answer: 121 — 196

QID : 212 - In the following question, select the odd number pair from the given alternatives.

frafafed vy # 3w e fawedl & 4 faww T gm o gl
Options:
1)47-74

2)49-96
3)63-36

4)97-79
Correct Answer: 49 — 96
Candidate Answer: 49 — 96
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QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Prayer
2. Plane
3. Prey

4. Predate
5. Picture

faffed Xreal o Xead I & S aTet HH & IR ford|

1. Prayer
2. Plane
3. Prey

4, Predate
5. Picture

Options:
1) 51234
2) 51243
3) 52143

4) 52134
Correct Answer: 52143
Candidate Answer: 52143

QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Temple
2. Trained
3. Training
4. Troupe
5. Tented

faffed Xreal o Mead N & S a1t HH & SIUR ford|
1. Temple

2. Trained

3. Training

4. Troupe
5. Tented

Options:
1) 15234

2) 15243
3) 15432

4) 14532
Correct Answer: 15234
Candidate Answer: 15234

QID : 215 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BD, CE, DF, EG, ?

TS e foar T 8, ol ¥ U ug g 31 fou e fawmedt & @ a7 wel fawed g, St s H &l R R

BD, CE, DF, EG, ?

Options:

1) FG

2) DH

3)FH

4) EH
Correct Answer: FH
Candidate Answer: FH

4/64



QID : 216 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AVA, BUC, CTE, ?
U e foar T B, o ¥ U ug g 31 fou e fawmedt & @ a7 Wl fawed g, S swH &l R Rl

AVA, BUC, CTE, ?

Options:
1) DVG

2) DSF
3) DSG

4) GSD
Correct Answer: DSG
Candidate Answer: DSG

QID : 217 - In the following question, select the missing number from the given series.
84,42, 28,21,?
Fafefed gy # fow e fasedl & 9 gw sie Id Sifor

84,42, 28, 21,?

Options:
1) 10.5

2) 16.8
3) 18.4

4) 19.6
Correct Answer: 16.8
Candidate Answer: 10.5

QID : 218 - In the following question, select the missing number from the given series.
2.2, 14.8, 40, 90.4, ?
frafefad wy # fdu 7 faswedl § 9 g sie w1d S

2.2,14.8,40,90.4,?
Options:
1) 191.2
2)194.4
3) 196.2

4) 208.4
Correct Answer: 191.2
Candidate Answer: [ NOT ANSWERED ]

QID : 219 - Raman remembers that the examination is after 15th May but before 1gth May, while Deep remembers that the examination is before 215t May but after
16th May. On which date of May is the examination?

T Y IIE § B URET 15 7 & 91 Al 18 TS I Ugd 8, S < &1 1S § 3! IReM 21 7S | Usd Afh 16 AS & a1 &1 URe A Bt HH-U1 aiig &1 32
Options:

1) 1l70n5

2)18

3)19

4) 20

Correct Answer: 17

Candidate Answer: 17

QID : 220 - In a class of 42 students, Swati's rank is 19th from the bottom. Purshottam is 6 ranks below Swati. What is Purshottam's rank from the top?

42 BT 3 U Hem B, Wifd A9 F 19 § RH W §1 gIuay, Wifd ¥ 6 ®H 2 ¥ [OUH B ”F SHW Y 377 82
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Options:
1) 39th
3041

2) 3\%nd
324l

3) 331
33af

4) 340
3441

Correct Answer: 30
304dr

Candidate Answer: 30t
30dr

QID : 221 - Pointing to a lady in the photograph Amit said," She is the mother of the only grandson of my mother ". How is the lady related to Amit?

o 7 U Tfee B 3R Tohd PR gU ST = Hel, "ag A AT & THHH U B Al 21" 98 Afed, iftd ¥ fhy yeR weifid 22
Options:

1) Mother

HidT

2) Daughter

3) Niece

4) Wife

Ll

Correct Answer: Wife

Candidate Answer: Wife

QID : 222 - In the following question, select the word which cannot be formed using the letters of the given word.
CAPABILITIES
frafafed fawedl & 3 98 Weg gHT ST AT TTU R1sg & 31&RT BT TN $HReb a! ST Sff Gavall|

CAPABILITIES

Options:
1) PLATE

2) PLIABLE
3) PALATE

4) PAYABLE

Correct Answer: PLIABLE
&& PAYABLE

Candidate Answer: PAYABLE

QID : 223 - In the following question, select the word which cannot be formed using the letters of the given word.
CARBONATE

frafafed faeedl o ¥ 98 Weg IHT Sl AT 71U R1sg & 31&RT BT TN b 8] ST S Gaball|

CARBONATE

Options:

1) CARBON

2) BORN

3) EARN

4) BOSE
Correct Answer: BOSE
Candidate Answer: BOSE

QID : 224 - In a certain code language, "SOULFUL" is written as "ORIIXLV" and "GATHER" is written as "OHEWXJ". How is "TIDAL" written in that code
language?

T fIfIY Pis WIS #, "SOULFUL" & "ORIIXLV" foRal STl § GuT "GATHER" &) "OHEWXJ" foraT STdT 81 39 &8 YW ® "TIDAL" &) g TR ferar smaem?
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Options:
1) IDALQ

2) WFGXO
3) OXGFW

4) QLADI
Correct Answer: OXGFW
Candidate Answer: [ NOT ANSWERED ]

QID : 225 - In a certain code language, "PLATE" is written as "32876" and "BLEND" is written as "52694". How is "DENTED" written in that code language?

o fIfIY Pis T &, "PLATE" &1 "32876" gl ST & 9UT "BLEND" ! "52694" a1 ST 81 39 HIS HIWT § "DENTED" & f5¥ YR ferar Siewm?

Options:
1) 869768

2) 295329
3) 469764

4) 538635
Correct Answer: 469764
Candidate Answer: 469764

QID : 226 - In the following question, by using which mathematical operators will the expression become correct?
6923?2?29?3
fafafad uy §, 3T 7t faeeal # 9 7 it dfhanatt &1 v o ¥ fear mar gviezo 9 8 s

69?3?22?29?3

Options:

1) +, -, >and x

+, = > a4l x

2) +, 4+, <and x

+, 4, < dYl x

3)+, -, =and x

+, =, =addl x

4) x, +, < and x

X, +, < dYT x

Correct Answer: +, +, < and x
=, +, < dYl x

Candidate Answer: +, +, < and x
+, 4+, < Tl x

QID : 227 - In the following question, by using which mathematical operators will the expression become correct?
9?23?6?8?4
frafiiad wy H, fGu U fawedt ¥ o5 Tiidrta Sfcrarstt 1 van o= 9§ fear mn gefie<or e g serm?

9?3?26?8?4

Options:

1) -, x, =and x

= X, =dYl x

2) +, 4+, >and +

+, 4, > dUT +

3) +, x, < and x

+, X, < dYUT x

4) x, +, < and x

X, +, < dYT x

Correct Answer: +, x, < and x
+, X, < dYl x

Candidate Answer: +, x, < and x
+, X, < dYT x

QID:228-1f1$9&5=14and2&4$3=—-41,then7$9&9=7?

T 1$9&5=14TU2&4$3=—418, N7$9&9="?
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Options:

1) 72

2)70

3) 68

4) 64

Correct Answer: 70

Candidate Answer: [ NOT ANSWERED ]

QID:229-1f8*9#3=51and12*6#4=72,then13*11#6=7?

qE8*9#3=51TqU12*6#4=72F,A13*11#6="72

Options:
1) 156
2) 128
3) 136
4) 144

Correct Answer: 144
Candidate Answer: 144

QID: 230 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

oraferrag iy # for or fomeut & @ uy e
(?) & FTUH X A gren FEAT FH AT

3 4 2
7 5 1
8 6 3
? 54 9

Options:

1) 60

2) 70

3)75

4) 80

Correct Answer: 80
Candidate Answer: 80

QID: 231 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

ST vy # fr or Reeeut # @ wy e
(?) & FUT W H qrel T H g
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Options:
1)3

2)4
3)5

4)6
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID: 232-
How many triangles are there in the given figure?

& o e & et Rage &7

Options:
1) 18

2) 20
3) 22

4) 24
Correct Answer: 22
Candidate Answer: [ NOT ANSWERED ]

QID: 233 -
How many triangles are there in the given figure?

& o sl # Reedt Fger ¥

Options:
1)8

2) 10
3) 12

4) 16
Correct Answer: 12
Candidate Answer: 12
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QID : 234 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

1. Some knifes are spoons.
I1. Some forks are knifes.
III. No fork is a green.

Conclusions:

1. Some spoons are forks.

II. Some knifes are green.

III. Some green are not knifes.
IV. Some knifes are not green.

F faw MU URE Uy B $F HUF 3R 3P 916 39 YA IR UG $& Fsw o ¢ 7, graifes ITH T 1d aedt I R 81 gadt g1 9t ey ug ok fiR

fuffva &% & fau U 1 I e, T U F3A F SR IR gk Td €

i TS g
L3O |
II.WTE%H@%I
II1. B el &1 -Tel 31

frep: .

1. $B TS BiC g

LB AFERE

1L $6 QX 1% el 5

IV. $6 9% & T8l &
Options:

1) Only conclusion (IV) follows
S b (1) 921 &

2) Only conclusion (III) follows

Faa e (D) I8 §

3) Only conclusion (III) and (I) follow
Fad ey (111) quT e (1) TE &
4) Only conclusion (I) and (II) follow
Fad ey (1) gut fsee (11) Tt §

Correct Answer: Only conclusion (IV) follows

Fad e (1v) T8 §

Candidate Answer: Only conclusion (I) and (II) follow

Faa e (1) qut fred (11) Wt

QID : 235 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some mangoes are not red.
II. All red are raw.

III. Some raw are mangoes.

Conclusions:

I. Some mangoes are not raw.
II. Some red are not mangoes.
III. All raw are red.

F AT T UR® Uy B @ B IR 3% §18 39 B W ARG $3 fewy f3u 6 §, g1 38w g awt @ et 8 g 81 3t ey 13 iR

fFrefied % o faw U 1M @ Fe, faw 70 St & SMYR W gfemiTa g

PY:

1. $F 3 1 g &
1L T e el B
IIL. $© &= 3 §

frepe:

. 8 3 &= g g
I1. $3 el 31 T8l
111 Tft = 1 B
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Options:
1) Only conclusion (I) follows

Faa fd (1) 9t 7

2) Only conclusion (II) and (III) follow
Paa ey (11) qur ey (111) 98 §
3) Only conclusion (I) and (III) follow
Faa ey (1) qur Frssy (111) 98 §

4) No conclusion follows

P11 e T e &

Correct Answer: No conclusion follows
s ot Frpdf w8t §

Candidate Answer: No conclusion follows
1S o e T e &

QID : 236 -

Two position of a cube are shown below. What will
come opposite to face containing ‘5’7

T o O Y g HaEUTT ST TR €5 IF
Woleh & Taudla @ar HEan?

3 -9

6 4

Options:

1)6

2)4

3)60r3

6 31Ydl 3

4)3

Correct Answer: 6
Candidate Answer: 6

QID: 237 -
Three position of a cube are shown below.

& o " & fra aEunT T e €

Which numbers will come on two faces marked ‘A
and B'?

‘A FUT B’ 3TeRd ST FeAdT UT hiF T & A9

,/’/_@
’ B)

P
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Options:
1)4and 3
4743
2)4and 5
47415
3)2and5
PASKIN)

4) 2 and 4
2dYr 4

Correct Answer: 2 and 5
274915

Candidate Answer: 2 and 5
24Ut 5

QID : 238 -

In the given figure, which number/numbers represent

papers which are books?

& 7 gl #, FF WH A 0N FOS S GEAH

g, & ZranETy WE?

AN '\\
;
Books/ /N / \ Papers/

resery 1 /4 \
/ /é\\:i\\ .
£ - \
/£ 5 N
Academic/3TREAE

Options:
1)2and 3
24493
2)2and5
24dYrs5
3)3and 4
3dUr4

4) Only 2
&ad 2
Correct Answer: 2 and 3
2493

Candidate Answer: 2 and 3
2dUr3

Rl
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QID: 239 -
In the given figure, which number represents pens
which are black but not red?

& TS W A FlF 7 3 T U ST Fre §
Afra o & & & gofEr &2

Pensiia |\

[ s 2 ]\1— Red/ser
AN

4 16 -
\x,xz'l

Black/errelr —» 3

Options:
1)4

2)5
3)6
4)3

Correct Answer: 4
Candidate Answer: 4

QID : 240 -
In the given figure, how many pages are either new or
white but not both?

A HE A, o FOF At T & W whe &

New/ /19 II.-/43\,I 291 A Pages/

o 91597 ) /
b q_________rr

\ 28 /
\\_ﬁ___ \ P
White/@the
Options:
1) 111
2) 100
3) 125
4) 168

Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]
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QID : 241 -

Which answer figure will complete the pattern in the
question figure?

Hier W 3R HFA Uy Fpla & ufawy & @@
wYafr?

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:
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QID : 242 -

Which answer figure will complete the pattern in the
guestion figure?

i H I P TH FFa & IAwT & g
et

A
\H ?

Options:
1)

|

N

)

NEAND}

Correct Answer:

L

Candidate Answer:

L
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QID: 243 -
From the given answer figures, select the one in which
the question figure is hidden/embedded.

Options:

1)

/

2)

/

3)

4)

Correct Answer:

Candidate An

swer:

& o2 3 Igladl # ¥ 3W W e @ gEAT
orm & vy el BT &

A4
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QID : 244 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

&1 7% IR Hgiadl # ¥ 3H IR Hga & gaw

ow & vy 3pfla BT &

Options:

1)

O

2)

3)
5~
1
4)
Correct Answer:
5~
1

Candidate An

swer:

=

il
\,‘_/

V]

O
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QID : 245 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & g A § REmw 3guR Fee &
AEFT e I Gee & g 98 [ 3 AEd
sar e game?

00
00

Options:
1)

“ N
oo oo
oo 00

W

Correct Answer:

swer:

0O
Q9
2
oo |§ oo
oo 5 o0
>
=
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QID : 246 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & uy Fpfaar # B 3gur s &
AR D T Wreld & dIg 98 T 39X HTgla
s e gme

Options:

bd bd

bd b4

N
-

bd pdq
v

W

¢¢

44 pPb

»
-

bd P4

4 4

(]
o
°
3
o
[e]
~
>
5
(7]
s

er:

b4 b4
v

0

Q

=3

2
G
-+

[¢]

>

=

swer:

bd pdq
v
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QID : 247 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IRy T EOUT @ AB IWT WX @ AW, &t & aE
IO HGRAl A ¥ Fid @ JFa U g Hr

Ter ufafess gefi?

Ak B

Options:
1)

N
-

w
-

il NLENE

H
=

Correct Answer:

Dj

Candidate Answer:

Dj
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QID : 248 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

fg e gUUT Fr AB I@T W T AT, g & T
TR Agfaal #F B Fla @ gl vy ey f

T ufafess gefi?

Options:

1)

0

¢’

2)

®

3)

2]

s

4)

4

Correct Answer:

0o

¢’

Candidate Answer:

c

¢’
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QID : 249 -

A word is represented by only one set of numbers as given in any one of
the altemnatives. The sets of numbers given in the altematives are
represented by two dasses of alphabets as shown in the given two
mafrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, *H’ can
be represented by 00, 24, efc., and ‘L’ can be represented by 56, 98, efc.
Similarly, you have to identify the set for the word “HALT™.

TS %G Had UH HEA-HAE GRT U TR ¥, ohar 6 fawedi # A
et v & fon o ¥ Reedt # G v swm-weg wad & @ aet
grT gete g ¥, St @ T aw &) smegpl & R ey & e iR
afth & Fwar 0 & 4 ¥ 3R negel F1 5 F 91 39 IR A v HaW A
uee 30 ufih 3R @E @ wEs ww g @i S wear B 3EeT
F faw H # 00, 24, 37 oRT R S FEHaT & W L F 56, 98,
T GRT g AT ghaT ¥1 SH ave @ 3ua) uw # RBe weg “HALT
& T @ A ge=Ean B

Matrix-I Matrix-Il

e Freel
O(1(2|3(4 s|(6|7[8(9
OJH|G|T]I]|N S|IE|L|X|B[A
1[IT|N[H]|G|T B(A|E[L[X]|B
2(G|T|I|N[H TIL|B|E[A]X
SIN[H|[G|T]I 8[X|A[B|E|L
4 |T|I|N|JH|G 9|B|X|A|L|E

Options:
1) 31, 59, 68, 21

2) 43, 86, 99, 40
3) 24, 78, 56, 02

4) 12,97, 88, 33
Correct Answer: 24, 78, 56, 02
Candidate Answer: 24, 78, 56, 02
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QID : 250 -

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altematives are
represented by two dasses of alphabels as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘K’ can
be represented by 10, 41, etc., and ‘N’ can be represented by 56, 97, efc.
Similarly, you have to identify the set for the word “TREND”.

TUF QMR HIA TH TEA-AHE GRT Euar IET ¥, Soher B Rwedt 7 &
e o & R ¥ RAeedt & R v gemwep dant & @ aet
grn gaie o E Star i Ru aw @) eyl & &) sy & s kR
dfts f der 0 & 4 ¥ 3R amegedll Y 5 91 3 smogel F US sEW @
Tea 3EH afth 3R ag # FoeN FE g qutn ST wadr ¥ 3G
& faw K- &1 10, 41, 307 GRT aiar s "@Har & T ‘N° & 56, 97,
g GRT GURT &1 §@dhal ¢l SHT oXe & Hud uwd & Gy weg
“TREND” ¥ faw @ag & ugar=n &

Matrix-I Matrix-ll

ey el
0(1]2|3]|4 S|6|7]|8|9
0OJA|R|T|E|K S5|S(N|D|L]I
1| KIA|E|R|T 6IN(L|S|I]|D
2IR|{T|A|K|E T|ID|JI|JL|N]|S
J|T|E|K|A|R 8|L|(S|I|D|N
4 |E|K|R|T]A 9|1 (D|IN|S]|L

Options:
1) 14, 13, 12, 65, 76

2) 43, 42, 40, 78, 88
3) 21, 34, 24, 57,95

4) 30, 01, 31,97, 59
Correct Answer: 43, 42, 40, 78, 88
Candidate Answer: 43, 42, 40, 78, 88

QID : 251 - Offloading of government shares to private companies is known as

WHR AR 7 st Hufal & == GRS
Options:
1) Investment

2) Disinvestment
3) Centralization
4) Decentralization

Correct Answer: Disinvestment

Candidate Answer: Decentralization

QID : 252 - Which among the following comes under primary sector of Indian Economy?

Fafifad § § o9 YR siforamn & Uufie &7 & idvfa o 22
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Options:
1) Sugar Industry
=T I

2) Dairy
53l

3) Banking
afer

4) Transport of Goods
g3l 1 uRag

Correct Answer: Dairy

Candidate Answer: Dairy

QID : 253 - What is moderate degree of controlled inflation called as?

Faifa gerifa @) Heg Aoft &) a7 BeT S 87
Options:

1) Reflation

PPICRHIR]

2) Stagflation

3) Hyper-inflation

3

4) Disinflation

TR

Correct Answer: Reflation

Candidate Answer: [ NOT ANSWERED ]

QID : 254 - What is the full form of 'CARE', the third credit rating agency in India?

R H IR 01 Fegien TaT (T Yo . Q. SR, <. 1 sriférd w9 . 82
Options:
1) Credit Analysis and Rati.ng Enterprise

TATTIR qus T Teruss
2) Credit Agency of Rating Equities
hige Tl 3 e sfdd

3) Credit Agency of Rating Enterprise
3T e .
4) Credit Analysis and Research
TS Red
Correct Answer: Credit Analysis and Research
s
Candidate Answer: [ NOT ANSWERED ]

QID : 255 - What is difference of Revenue expenditure and Revenue receipts called as?

oI Y YT TSI 31T BT 3R FT BRIl 82
Options:

1) Revenue

RIEES

2) Total expenditure

Eayicip)

3) Revenue Deficit

RISEE RO

4) Total revenue

D] o

Correct Answer: Revenue Deficit
USRS I

Candidate Answer: Revenue Deficit
USRS R

QID : 256 - What is the main objective of Marxism?

HreRidTe, BT T I T 82
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Options:
1) Dictatorship

2) Stateless society
AT
3) To establish strong centre
BT RITIHT H=AT
4) Protection of weaker sections
DHHR aTlf BT YRET HRAT
Correct Answer: Stateless society
AT

Candidate Answer: Dictatorship

QID: 257 -In government each adult citizen must have one vote and each vote must have one value.

WEHR T B 9O MRS &1 TH Ad g1 Ay adT % Ad &1 Th I9 g g1 afeu|
Options:
1) De.mocratic

2) Autocratic
3) Monarchic

4) Authoritarian
Correct Answer: Democratic

Candidate Answer: Democratic

QID : 258 - Who among the following gave the concept of 'Distributive Justice'?

Frofifad o @ frem R =m &1 fRigia faar ar
Options:
1) Aristole

SO

2) Plate
wiel

3) Hegel
4) Ritchie
fo=it

Correct Answer: Aristole

SR
Candidate Answer: [ NOT ANSWERED ]

QID : 259 - Vice-President of India is also ex-officio chairman of

YR & JIRIFUA F o sy i B
Options:

1) Lok Sabha

e THT

2) Rajya Sabha

ST IHT

3) Parliament

T

4) Union Public Service Commission
Y Al a1 START

Correct Answer: Rajya Sabha
ST HT

Candidate Answer: Rajya Sabha
RS HT

QID : 260 - What are the maximum number of seats fixed for Rajya Sabha in India?
HRA T T THT & e it fpat i FRuffa &
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Options:

1) 245 seats
245 Wi¢

2) 252 seats
252 ¥i¢

3) 260 seats
260 I

4) 250 seats
250 Ui

Correct Answer: 250 seats

250 9

Candidate Answer: 252 seats

252 O

QID : 261 - Who appoints the Chief Minister of any of the state in India?

YR # ot g & e @) el # @ $F fged sxar 82
Options:

1) President of India

URA &

2) Governor of the state

M & AT

3) Judge of High Court

I AT & ATATERT

4) Attorney General of India

URA &

Correct Answer: Governor of the state
ST & oI

Candidate Answer: President of India
HRd & gUid

QID : 262 - High Court of Andaman and Nicobar Islands is located in which state of India?

3T 3R PR €0 THg &1 3= AT YRd & o g H fRud 32
Options:
1) Tamil Nadu

2) West Bengal
CEEEIG]

3) Andhra Pradesh
SATR] TR

4) Karnataka

Correct Answer: West Bengal
CEEEIG]

Candidate Answer: Tamil Nadu

QID : 263 - In how many ways Indian citizenship can be acquired?

YR Ariedr Fafiiea & § f7 ade! @ i &1 S 9t 82
Options:

1) Three

GiGH

2) Four

IR

3) Five

i)

4) Six

EX

Correct Answer: Five
g

Candidate Answer: [ NOT ANSWERED ]

QID : 264 - Which of the following Vedas is not a part of Vedatrayi?

frofefad & & o a1 3¢ Jezrtt &1y T 82
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Options:
1) Rig Veda
Fdg

2) Yajur Veda
3) Sama Veda

4) Atharva Veda

3fydag

Correct Answer: Atharva Veda

3dag

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - Who among the following is known as 'Bismarck of India'?

Froffad o @ fFd URa &1 fawTTdh' waT SaT 32
Options:

1) Sardar Vallabhbhai Patel

WER TEAHYTS Ued

2) Bhagat Singh

ird g

3) Swami Vivekanand

4) Lala Lajpat Rai
TTedT SiSTad X

Correct Answer: Sardar Vallabhbhai Patel
IER TTAHTE T
Candidate Answer: [ NOT ANSWERED ]

QID : 266 - In Indus valley civilization, Lothal was famous for which of the following?

Ry a1t Tagar §, Ava Fafifad & ¥ feae forg ufitig ar
Options:
1) The Rock cut architecture

T ¥ Al =i
2) Dockyard

ECAUI

3) Cotton cultivation
CRIR A REG

4) Pottery

it & U=

Correct Answer: Dockyard
ELAUI

Candidate Answer: Dockyard
LTSI

QID : 267 - Who among the following built the Sanchi Stupa?

frofafed & 3 frem | & wqu 1 Fwfor sam ur
Options:

1) Ashoka

SNIGa

2) Gautam Buddha
TIdH §&
3) Cholas

4) Pallavas
Jeold
Correct Answer: Ashoka

Candidate Answer: Ashoka

QID : 268 - Lord Macaulay is generally associated for bringing
S APTal YR YR B M ¥ et g

in India.
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Options:
1) Unity in Army
1 H THhdT
2) Economic reforms
JUR
3) English Education
SfUrh e
4) Modern Technologies
Sy :
Correct Answer: English Education
SfTreh e
Candidate Answer: English Education

SiUsh Rrem
QID : 269 - Which of the following pair is INCORRECT?

ol 7 § 1w gm 98 T @2
Options:

1) 0° longitude — Prime Meridian

0° X\ - Y HeATg 4T

2) 0° longitude — Equator

0° 3\ — yHewEl

3) 0° latitude — Equator

0° 3T — YHER

4) 23.5° North — Tropic of Cancer

23.5° QTR — B 3@l

Correct Answer: 0° longitude — Equator
0° X\ — yFeaan

Candidate Answer: [ NOT ANSWERED ]

QID : 270 - What is an isthmus?

TP RASHIH (SRITT) 7 82

Options:

1) A water body separating two land masses

B YU BT 3T B ATl U oI bR

2) A narrow strip of land separating two water bodies

& o BT B ST B arel YA ST T b ug

3) Deep penetration of a water body in land

A o T ST T T TeRT WA

4) None of these

T A IS el

Correct Answer: A narrow strip of land separating two water bodies
& o BTt B ST FRA aren Y B T Fhs

Candidate Answer: A narrow strip of land separating two water bodies

& ST BT B ST FHRA aTe YfA B T b ug

QID : 271 - 'Red Indians' are natives of which of the following country?

s e ufafed 8 9 fa 33 & ga Farh 82
Options:

1) India

URd

2) Pakistan

3) North America

I SR
4) West Africa

Correct Answer: North America

Candidate Answer: North America

I AR

QID : 272 - What is the time difference between Indian Standard Time [IST] and Greenwich Mean Time [GMT]?

HRATT AFS THY qUT A A1 AT & o JHY BT 3R fobaT 22
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Options:

1) 7 hours 30 minutes
7 der 30 fiFe

2) 6 hours 30 minutes
6 der 30 fiFe

3) 5 hours 30 minutes
5 der 30 fiFe

4) 4 hours 30 minutes
4 9e1 30 fiFe

Correct Answer: 5 hours 30 minutes

5 EeT 30 e

Candidate Answer: 5 hours 30 minutes
5 der 30 e

QID : 273 - Which of the following is also known as 'Doctor winds'?

I. Foehn
II. Harmattan
III. Chinook

fofefad & & o 'elaex gar & W ¥ +f o ot §2

L ®lg
I1. e
111 for®

Options:

1) Iand III
1T 111

2) Only II

%ad II

3) Only III
%ad III

4) I and II Both
1 YT I ST

Correct Answer: Only II

Had 11
Candidate Answer: [ NOT ANSWERED ]

QID : 274 - Which of the following drug is used to get pain relief in muscles?

frofafed & 9 o 4 a1 ailREl & < 9 ed faam & e Sud &t o 62
Options:
1) Analgesics

2) Antibiotic
PIREIEES
3) Antiseptics

MY e

4) Antidotes
Correct Answer: Analgesics

Candidate Answer: Analgesics

QID : 275 - Which of the following protein is found in hair?

fafifad & § HF 91 W a1a & urr S 82
Options:
1) Histone

2) Keratin

HfeA

3) Elastin

4) Actin

Correct Answer: Keratin

Candidate Answer: [ NOT ANSWERED ]
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QID : 276 - Which among the following is an example of dicot seed?

fFafifed 7 @ $F T fedouE &1 Iare 22
Options:

1) Rice

Y

Z)WWheat

3) I?ulses

4) Maize
HahT
Correct Answer: Pulses

Candidate Answer: Pulses

QID : 277 - Which liquid is contained inside the nucleus of a cell?

TS SIRIBT F H5H § BIF I 5 Bl 82
Options:
1) Cytoplasm
el
2) Protoplasm

3) Nucleoplasm

4) Nucleosome
Correct Answer: Nucleoplasm

Candidate Answer: Cytoplasm
<

QID : 278 - Which of the following is a communicable disease?

1. Malaria
II. Tuberculosis
III. Measles

fafafad 7 @ 19 91 T I T §?

L. Fafan

11 &3 I

IIL. =%
Options:

1) Only II

Fad 11

2) Both I and III
13T 111 &Y

3) Both II and III
11 9T 111 aHF
4) Only III

%ad III

Correct Answer: Both II and III
11 9T 111 St

Candidate Answer: Only II
Fad 11

QID : 279 - The chicory powder which is mixed with coffee powder is obtained from which of the following part of plant?

BB Ugex # R o arel e ugel U & 5y R| 3 wrd g €7

Options:
1) Stem
a-r

2) Fruit
Bd

3) Flower
G

4) Root
g
Correct Answer: Root
oS
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Candidate Answer: [ NOT ANSWERED ]

QID : 280 -
Match the following.

Tt o e fifem)

Quantity / JTT Sl Unit/ oq. 3NS. S5
1. Frequency a. Ohm

mfa 3T
2. Force b. Herz

L] et
3. Resistance c. Newton

uferrer e

Options:
1)1-b,2-¢,3-a

2)1-a,2-¢,3-b
3)1-¢,2-b,3-a

4)1-b,2-3,3-c¢
Correct Answer: 1 -b,2-¢,3-a
Candidate Answer: 1 -b,2-¢,3-a

QID : 281 - Energy in the foods can be measured in which units?
W Sl &I o IS § WY T 82

Options:
1) Kelvin
Dfeq

2) Joule
oA

3) Calorie
Far

4) Celsius

Correct Answer: Calorie

Candidate Answer: Calorie

QID : 282 - Ability to distinguish two closely placed objects is .

& ey axgelt & 9g & &t &l Bl FEd B
Options:
1) Resolving power
N &
2) Video power
fafsar eman
3) Distinguish power
SR B B &l
4) Magnifying power
el g
Correct Answer: Resolving power

fane aman
Candidate Answer: [ NOT ANSWERED ]

QID : 283 - are used for communication in artificial satellites.

FHT IUEl § G9R & fou T AN {35 ST § 1
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Options:

1) Infrared waves

SR T

2) Radio waves

e ast

3) Ultraviolet (UV) rays

RIS (g, gt.) fep=or

4) Amplitude Modulation (A.M.) waves
3 iy (X, w.) a5

Correct Answer: Radio waves

e ¥t
Candidate Answer: [ NOT ANSWERED ]

QID : 284 - Multicasting is

AeiET_ gargl

Options:

1) sending a frame to a group of stations

WRMA & U BT B AT

2) sending a frame to a single station

TH 3fdvel WRA BI HF Ao

3) sending a frame to minimum 100 group of stations
AT 100 WRE & TG B T BT

4) not sending a frame to any group of station

foadt oft =M &1 Iy 1 A

Correct Answer: sending a frame to a group of stations
WA F JU B A AT
Candidate Answer: sending a frame to a group of stations

R & 70 B H Yo

QID : 285 - Which of the following pair is INCORRECT?

1. Touch Pad — Locator device
II. Microphone — Output device
III. Monitor — Output device

o & 3 o w gm wd 76 72

L. T4 US — diheR fEargd
I1. HIEhIhI- 3fr3eye feargy
II1. AR~ 3M3eye fsarsd
Options:

1)Iand II

1aUTII

2)Iand III

1T 111

3) Only II

Fad 11

4) All options are correct.

T APy IEI 1

Correct Answer: Only II

FHad 11

Candidate Answer: All options are correct.

T i Iei 1

QID : 286 - Which among the following is used in fire extinguisher?

1. Carbon dioxide
II. Oxygen
III. Sulphur dioxide

fRffaa & ¥ foog 19 o1 va Siftmre a3 # foear Sirdr 2

1. BT S3HTFES
11, 3ffeRifioH

111, IR SE3HaEs
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Options:

1) Only I

Had I

2) Only IT

$ad 11

3) Only III

Fad 111

4) All options are correct.

g Ay Ie1 § |

Correct Answer: Only I

Fad 1

Candidate Answer: Only I
Had I

QID : 287 - Which of the following is used as coolant in Atomic reactor?

ol & 3 frae Swm W vet (Ruwer) # Sidee @1 i TanT & o 82
Options:

1) Water

G

2) Uranium

3) Graphite
4) Boron

Correct Answer: Water
od

Candidate Answer: Graphite

QID : 288 - Which of the following metal is the heaviest?

frafarad 3 9§ 39 O g Ted oifie Ui 32
Options:
1) Iron

2) Silver

ardt

3) Nickel

e

4)uOsmium

Cgrrect Answer: Osmium

andidate Answer: Osmium

QID : 289 - Which of the following is an example of sublimation?

I. Dry ice
II. Camphor
III. Ice

fRafafad # 9 o9 Idurdad &1 Ia1e Ul 82
1. g& o

1I.

1I1.

Options:
1)Iand II
14411

2) I, II and III
I, 11 9YT III
3)Only I
Pad I
4) Only II

Had 11

Correct Answer: I and II
14411

Candidate Answer: Only I
Padl
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QID : 290 - Which of the following is an artificial ecosystem?
fFrafifed & 9§ o1 w@ $hw uida 82

Options:
1) Aquarium
ToER

2) Zoo
fSar R
3) Sanctuary

4) National Park
Correct Answer: Aquarium

Candidate Answer: Aquarium

QID : 291 - Which of the following primarily causes Mercury Pollution?

fofafed o S qora: B9 URT UgH0T BT 82
Options:

1) CFL Lamp

RIS

2) Automobile Battery

Sl e

X

3) Polymer

EENED
4) Dieslel Engine

EESESE]

Correct Answer: CFL Lamp
T wa oy

Candidate Answer: CFL Lamp
RIRCAUC L]

QID : 292 - Dodo is a bird categorized under .

e ueft e Ao ¥ aifepa e man 21
Options:
1) Extinct

2) Endangered

qva
3) Critically endangered

TR U ¥ gaud
4) Rare

gaH
Correct Answer: Extinct

Candidate Answer: [ NOT ANSWERED ]

QID : 293 - The first UDAN flight under 'Regional Connectivity Scheme' was flagged off between which of the following two cities?
froffad & & for 3 Wl & o9 &g JisiedT GeHT & d8d 99 U8d SSH (3, S, T. TF) faam & i<t femmdt g2

Options:
1) Guntoor-Chennai

2) Shimla-Hyderabad
21T - feRmETe

3) Nanded-Mumbai

4) Kadapa-Chennai

DU - A7

Correct Answer: Shimla-Hyderabad

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who invented electric motor?

f3=[a AR &1 SfawpR foser fasar?
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Options:
1) Michael Faraday

HIghdl
2) Guglielmo Marconi

3) James Watt
S ae
4) Isaac Newton

SUESCORC R

Correct Answer: Michael Faraday
AHT BRI

Candidate Answer: Michael Faraday

AP BRI

QID : 295 - Winter Olympics 2018 will be hosted by which country?

Hiaerae Siicife 2018 F ASEM! B A1 S HIM?
Options:

1) Japan

ST

2) Vietnam

[CRREIE

3) China
G

4) South Korea
afgmor
Correct Answer: South Korea

Tféror Sifvar

Candidate Answer: China

QID : 296 -
Match the following.

IGECICRCE IR RIGECII |

Monument / TARSG Country / 23r
1. Great Pyramid of Giza a. Mexico
=T Fr faemer OfEE ATFTH!
2. Greatwall of China b. ltaly
e & former Ear sealn
3. Colosseum c. Egypt
HreOTH 7
4. Chichen ltza d. China
AT FEaT =eT

Options:

1) 1-b, 2-d, 3-3, 4-c

2) 1-c, 2-d, 3-b, 4-a

3) 1-a, 2-d, 3-b, 4-c

4) 1-b, 2-a, 3-d, 4-¢

Correct Answer: 1-c, 2-d, 3-b, 4-a
Candidate Answer: 1-c, 2-d, 3-b, 4-a

QID : 297 - Who among the following is a recipient of Nobel Prize 2016 in the field of Physiology or medicine?
fofefad & & o ffomiare a1 fafesen & & § 2016 ¥ TNod RIEGBR UIddd! 82
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Options:
1) Bengt Holnstrom

2) Bob ISyIan
CICAREE]
3) Yoshinori Ohsumi

4) Juan Mannuel Santos
T3 B3 S

Correct Answer: Yoshinori Ohsumi

Candidate Answer: Yoshinori Ohsumi

QID : 298 - Which Lok Sabha speaker has authored the book 'Matoshree'?

A Qe b dlis TuT redel gRT fered) 1 2
Options:

1) Sumitra Mahajan

BIEEIREHCE]

2) Meira Kumar

3) Somnath Chatterjee

Y Tt

4) Manohar Joshi
Sir=ft

Correct Answer: Sumitra Mahajan

gt TgreH

Candidate Answer: [ NOT ANSWERED ]

QID : 299 - How many agreements have been signed by India and Cyprus on 28 April 2017?

28 3 2017 B HRT TUT T3UY gRT fba TA=idl 1R g&er fovar mar g2
Options:
1)3

2)4
3)5

4)6
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID : 300 - Farraka barrage is a major reason for contention between India and

TRaeHT SRSl YR T % o9 faare &1 T T HRU B
Options:

1) Bangladesh

LRGN

2) Pakistan

3) China

G

4) Nepal

e

Correct Answer: Bangladesh

Candidate Answer: China

QID: 301 - If P = (V7 - V6)/(V7 + V/6), then what is the value of P + (1/P)?

IR P = (V7 - V6)/(V7 + V6) B, A P + (1/P) T HIF T GITT?
Options:

1) 12

2) 13

3)24

4) 26

Correct Answer: 26

Candidate Answer: 26
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QID : 302 - Which value among 3290, 2300 and 7100 js the largest?

3200, 2300 o7 7100 ¥ Fod S} T I I 82
Options:

1) 3200

2) 2300

3) 7100

4) All are equal

Tt /IR §

Correct Answer: 3200

Candidate Answer: 7100

QID : 303 - What is the value of 32 + 72 + 112 + 132 + 172-12-52-92- 112 - 1527
2 +72+112 4132 +172-12-52-92- 112 - 12 BT HH AT R?

Options:

1)5

2)72

3)92

4) 184
Correct Answer: 184
Candidate Answer: 184

QID : 304 -
3 3
(0.7 (04

What is the value of : =N
(0.7)°+0.7x0.4+(0.4)

(0.7)" - (0.4)’
(0.7)° +0.7x 0.4 +(0.4)°

T AT FT &7

Options:
1)0.3

2) 0.4
3)0.7

4) 1.1
Correct Answer: 0.3
Candidate Answer: 1.1

QID : 305 - How many positive factors of 40 are there?

40 F YATHD 0T foba &2
Options:

1)3

2)4

3)6

4)8

Correct Answer: 8
Candidate Answer: 8

QID : 306 - A is 20% more efficient than B. If B alone can complete a piece of work in 12 days, then A alone can complete the same work in how many days?

A, B 20% 3% ST g1 TS B bl Th B B 12 o H X Ibel 2, dl A Sihar S 1 b fbam & & 71 o2 qobell 82
Options:
1) 10

2) 12
3) 14

4) 16
37/64



Correct Answer: 10
Candidate Answer: 10

QID : 307 - A and B together can complete a work in 10 days. They started together but A left after 2 days and the remaining work was completed by B in 12 days.
In how many days can A complete the entire work while working alone?

A 3R B T w1 &1 e 10 T & IR1 9% Iad €13 T 1Y 3RY IR € W 2 el & a1 A B Bls a1 § a1 W B sidbet B gRT 12 AT o oRy {3 S B
Trgul T Y, 3 BT B §U A b a1 & IR1 B gepelr 22

Options:

1)15

2)20

3) 30

4) 45

Correct Answer: 30

Candidate Answer: [ NOT ANSWERED ]

QID : 308 - What will be the net discount (in percentage) after two successive discounts of 50% and 50%?

50% U1 50% 1 a& il el b s1& Fad (Ae) ge (vfard H) w1 grf?
Options:

1) 85

2)75

3) 100

4) 95

Correct Answer: 75

Candidate Answer: 75

QID : 309 - An article is sold for Rs 5330 after a discount of 18%. What is the marked price (in Rs) of the article?

18% @1 @e & 91 Ueb I BT 5330 T. T 941 S 3| I 1 sifehd G (. H) 82
Options:

1) 6250

2) 6450

3) 6800

4) 6500
Correct Answer: 6500
Candidate Answer: 6500

QID : 310 - Raman, Rohit and Raja are partners and invest in a business. Raman invests 1/4th of total and Rohit invest 1/3th of the total. What is the ratio of profit
of Raman, Rohit and Raja respectively?

T, AR T IS THER § TUT T AR F (9% R 81 I S (A= BT 1/4 UFT G Afed St Fa=1 BT 1/3 HFT I 6T 81 A T, Jfed a1 e &
Y BT U T 82

Options:

1)4:3:1

2)3:4:4
3)3:4:5

4)4:3:5
Correct Answer: 3:4:5
Candidate Answer: 4:3: 5

QID:311-Ifa-b:b-c:c-d=1:2:3, then what is the value of (a + d) : c?

giga-b:b-c:c-d=1:2:38, @ (a +d): cH AH TG
Options:

1)1:2

2)2:1

3)4:1

4)3:1

Correct Answer: 2 : 1

Candidate Answer: 2 : 1
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QID : 312 - The average age of Rustam and Preetam is 39 years. The average age of Preetam and Geetam is 28 years. The average age of Rustam and Geetam is
34 years. What will be the age (in years) of the youngest of the three after 10 years?

Wﬂﬁﬁrmmﬂaﬁ&hﬂasﬁgwaﬁ%maﬂaznrﬁaﬂa%ahﬂasﬁqzsmf%mamrﬁanaﬁsﬁwmyaﬁ%%ﬁﬁﬁﬁmzﬁ%ﬁ&n@(ﬁﬁ) 10 g8 91
1 gif?

Options:

1) 13

2) 23
3)33

4) 43
Correct Answer: 33
Candidate Answer: 33

QID : 313 - The average age of 6 members of a family is 25 years. If the youngest member of the family is 15 years old, then what was the average age (in years)
of the family at the time of the birth of the youngest member?

% URGR & 6 UGRN &1 3T 317 25 Y 71 S URGR & Ta9 B IS 31 Mg 15 T4 8, I Yad BIe T & o H & 999 URGR $T ofird g (auf &) @ ot
Options:
1)9

2) 12
3) 18

4) 24
Correct Answer: 12
Candidate Answer: 24

QID : 314 - On an article the profit is 230% of the cost price. If the cost price increases by 50% but the selling price remains constant, then what is the new profit
percentage?

T o] W T Hed BT 230% Y BT 81 Al 37 Jea B 50% B gig giedl 8 Al fasha Jeu fRR g 7, d a1 ey wiawrd a1 g
Options:

1) 54.54

2) 80

3) 120

4) 150

Correct Answer: 120

Candidate Answer: 120

QID : 315 - A trader buys two articles for Rs 4000 each. While selling if he gains 12.5% on one and losses 20% on the other, then what will be the overall loss
percentage?

Wgﬂuﬁﬁmﬁﬁwoozuﬁm%mwaﬁw%lﬁéﬁw@wmm12.5!%%?«11%46%111‘13@%20%a"r%ﬁ@ﬁ’r%ﬁﬁwﬂfaﬁuﬁw
1 gm?

Options:

1) 2.5

2) 3.75

3)5

4)5.25

Correct Answer: 3.75

Candidate Answer: 2.5

QID : 316 - X is 30% more than Y and 25% less than Z. If value of Y is Rs 300, then what is the value (in Rs) of Z ?

X, Y ¥ 30% 3 & IUT Z § 25% & 31 Al Y &1 AF 300 F. §, df Z & A (3. H) F1 ENM2
Options:

1) 390

2) 400

3) 470

4) 520

Correct Answer: 520
Candidate Answer: 520

QID : 317 - The price of motor cycle depreciates every year by 10%. If the value of the motor cycle after 3 years will be Rs 36450, then what is the present value
(in Rs) of the motor cycle?

TP TR TRfhd & Ted | U a¥ 10% &1 519 BT 21 AfE 3 9 a8 Hiex WIsfbd &1 Je 36450 . W d AieR IT3fhdl HT IaAH Hed (F. H) T 82
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Options:
1) 45000

2) 50000
3) 48000

4) 51000
Correct Answer: 50000
Candidate Answer: 50000

QID : 318 - Two boat are travelling with speed of 36 km/hr and 54 km/hr respectively towards each other. What is the distance (in metres) between the two boats
one second before they collide?

3 19 TP GER BT RE HH: 36 .17, U et a1 54 35,18, vl ver 3t i @ 9@ 6 €1 Thm A T IS Ugd I s fbat gif (Hier 7 ghie
Options:

1) 10

2) 15

3)25

4)5

Correct Answer: 25

Candidate Answer: 25

QID : 319 - A car left 3 minutes early than the scheduled time and in order to reach the destination 126 km away in time, it has to slow its speed by 6 km/h from
the usual. What is the usual speed (in km/hr) of the car?

TP BR 30 P Trg F 3 fiFe usd Foad § A 126 6., g 7ider ®IM R 907 ugen & forg I oo wmr i & 6 .7, ufa der &) oot ot
TSt BR & gm Tt (7. ufa v &) g2

Options:

1) 56

2)63

3) 94.5

4) 126

Correct Answer: 126
Candidate Answer: 63

QID : 320 - If a certain sum becomes 3 times in 6 years at compound interest, then in how many years, it will become 81 times?

I P YR Tl oI WR 6 I8 & 3 AT 8 St 8, O b auf o a8 81 T[T 81 wwwir?
Options:
1)81

2) 162
3) 27

4) 24
Correct Answer: 24
Candidate Answer: 24

QID : 321 - What is the simple interest on Rs 5400 in 5 years at the rate of 12% per annum?

12% Ufqas &1 e ¥ 5 a9 H 5400 T T JIYRUT ST T TP
Options:

1) 2700

2) 2950

3) 3120

4) 3240

Correct Answer: 3240
Candidate Answer: 3240
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QID:322-
The bar graph given below represents the number

of boys in a school using three apps for three
months.

&= R o gus R # e Rgrew & & #3794t
w g T g

B Whatsapp / sgreaeq U Facebook / &g ™ Hike / §15%F

800 -
700 -
600 -
500 -
400 -
300 -
200 -
100 -

0 -

Number of boys
ASHI Y TE&AT

January/ February/ March /#T5
ST HERT

Month / #glT

What is the total number of boys using the three apps in month of March?
o & T T YT AR AT TS h! DI e TS T 82

Options:

1) 1420

2) 1480

3) 1450

4) 1500
Correct Answer: 1450
Candidate Answer: 1450
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QID:323-
The bar graph given below represents the number
of boys in a school using three apps for three
months.

&= R o gus R # e Rgrew & & #3794t
w g T g

B Whatsapp / sgreaeq U Facebook / &g ™ Hike / §15%F

800 -
700 -
600 -
500 -
400 -
300 -
200 -
100 -

0 -

Number of boys
ASHI Y TE&AT

January/ February/ March /#T5
ST HERT

Month / #glT

Number of boys using Whatsapp in February is how much percent more than the number of boys using Facebook in February?

PRAd § SgTegUy ThIT SR aTel ! B B B! H e TN B a1 TS B GO I fban ufaw sifie 27
Opti :
1)psloons
2)33.33
3) 66.66
4) 44.22

Correct Answer: 50
Candidate Answer: 50
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QID:324-
The bar graph given below represents the humber

of boys in a school using three apps for three
months.

&= R o gus R # e Rgrew & & #3794t
w g T g

B Whatsapp / sgreaeq U Facebook / &g ™ Hike / §15%F

800 -
700 -
600 -
500 -
400 -
300 -
200 -
100 -

0 -

Number of boys
ASHI Y TE&AT

January/ February/ March /#T5
ST HERT

Month / #glT

What is the percentage decrese in number of boys using Facebook from January to February?

Tt § WRas! B hagd YA oA a1d a5l &1 T H fhan ufawrd 31 wt §S 37

Options:
1) 26.66

2) 20
3) 21.33

4) 16.66
Correct Answer: 16.66
Candidate Answer: 16.66
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QID: 325 -
The bar graph given below represents the number

of boys in a school using three apps for three
months.

&= R o gus R # e Rgrew & & #3794t
w g T g

B Whatsapp / sgreaeq U Facebook / &g ™ Hike / §15%F

800 -
700 -
600 -
500 -
400 -
300 -
200 -
100 -

0 -

Number of boys
ASHI Y TE&AT

January/ February/ March /#T5
ST HERT

Month / #glT

Number of boys using Whatsapp in March is what percent of number of boys using Facebook in February?

T § BTNy YA IR a0 dSh] BI T BRA T g YONT B aId AS ! b Ul o fohaT ufa=rd 82
Options:

1) 126.47

2) 136

3) 128

4)131.3

Correct Answer: 136

Candidate Answer: 136

QID : 326 - The perimeter of base of a right circular cone is 132 cm. If the height of the cone is 72 cm, then what is the total surface area (in cm?) of the cone?

TF T Jeiid /i & SMUR &1 URAY 132 A1, B afE g 3 Farg 72 A0, B, O 391 $a yuig aowa (I.10.2 &) 31 g
Options:

1) 6600

2) 6336

3) 4224

4) 5784

Correct Answer: 6336
Candidate Answer: [ NOT ANSWERED ]

QID : 327 - A solid metallic sphere of radius 14 cm is melted and recast into a cone with diameter of the base as 14 cm. What is the height (in cm) of the cone?

TP 14 .41, Bion ot S i et o fTeees U T 1 PR foar ST & /e R &7 o 14 .41, 21 g Bt Sars (F.4. 7) :n g2
Options:
1) 236

2) 64
3) 112

4) 224
Correct Answer: 224
Candidate Answer: 224
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QID : 328 - The radius of a wheel is 21 cm what is the distance (in cm) travelled by the wheel in 10 revolutions?

TS Ufed &1 Biear 21 9.1 B1 10 Tep) # g fba gt (.. #) 7 s

Options:
1) 660

2) 1320
3) 1980

4) 2640
Correct Answer: 1320
Candidate Answer: 1320

QID : 329 - Three circles of radius 21 cm are placed in such a way that each circle touches the other two. What is the area of the portion enclosed by the three

circles?

21 3.1, B 9 1 99 59 USRI afRid iU M 7 5 vl a9 o ) gl ol Tl vl 81 S <fiH gl & GRT R T & &1 &A% d T g

Options:
1) 441V3 - 693

2) 882v3 - 693
3) 882V3 - 462

4) 4413 - 462
Correct Answer: 441V/3 - 693
Candidate Answer: 882V3 - 693

QID : 330 - If the perimeter of a square is 80 cm, then what is the diagonal of the square (in cm)?

e ue arf Y afkfer 80 A4, B, o o o1 faawof (.48, &) 7 gme

Options:

1) 202

2) 40v2

3) 80v?2

4) 20

Correct Answer: 20v2
Candidate Answer: 20v/2

QID : 331 - If (1/x) + (1/y) + (1/2) = 0 and X + y + z = 11, then what is the value of x3 + y3 + 23 - 3xyz?

TR (1/x) + (1Y) + (1/2) =0T x +y + z = 11 8, A x3 + y3 + 23 - 3xyz BT HH T §?

Options:
1) 1331

2) 2662
3) 3993

4) 14641
Correct Answer: 1331
Candidate Answer: 1331

QID: 332-

What is the simplified value of

() e

(x2_1j+ (x+1)

o

_('1+X3J _ (x2+1—xJ_

_(‘l+x3] (x2 +1—x)_

x(x—'ﬂ 7

x(x—1) &1 TTApd AT
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Options:
1)1

2) X
3)x+1

4) 1/(x- 1)
Correct Answer: x + 1
Candidate Answer: x + 1

QID: 333 -
FEF X o X =62, then what is the
X— \!'xz—1 X—'—\'/ i

value of x (x <0)7?

afy X+ “NX — ' _s2% @ x(x<0
X— Jx2—1 x+\/x2—1 & B

T AT FIT TAM?

Options:
1) -4

2)0
3)3

4) 16
Correct Answer: -4
Candidate Answer: -4

QID: 334 -
If x2—3x + 1 =0, then what is the value of xz—-%?
T x2—-3x+1=0%, a’rx%%awr AT HT §?

Options:

1)3

2)7

3)9

4) 11

Correct Answer: 7
Candidate Answer: 7

QID: 335 -

If x* + i4 =98 and x > 1, then what is the value of
X

uﬁx4+i4=98 Jarx>1 &, ar X—%Eﬁr AT
X

FT B2
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Options:
1)2

2) 2v2
3)V5
4)V3

Correct Answer: 2v2
Candidate Answer: 2v?2

QID : 336 - In AABC, «BCA = 90°, AC = 24 cm and BC = 10 cm. What is the radius (in cm) of the circum-circle of AABC?

AABC #, 2BCA = 90°, AC = 24 .11}, TuT BC = 10 3.7 1 AABC % ufega ! froar (J.70, ) =an gnfie

Options:

1) 12.5

2) 13

3)25

4) 26

Correct Answer: 13
Candidate Answer: 12.5

QID : 337 - A chord of length 7 cm subtends an angle of 60° at the centre of a circle. What is the radius (in cm) of the circle?

7 9.0, A U ofid, 39 & favg W 60° &1 HI0T S 31 g B frwar (I, F) T geite
Options:

1) 7v2

2) 7V3

3)7

4) 14

Correct Answer: 7

Candidate Answer: 7

QID : 338 - If APQR is right angled at Q, PQ = 12 and £PRQ = 30°, then what is the value of QR?

T APQR, Q TR JHHIUN §, PQ = 12 TUT 2PRQ = 30° B, i QR T HH &1 8?

Options:
1) 12v3

2) 12v2
3) 12

4) 24
Correct Answer: 12v3
Candidate Answer: 12V3
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QID: 339 -
In the given figure, area of isosceles triangle ABE is
72 cm?and BE = AB and AB =2 AD, AE||DC, then
what is the area (in cm?) of the trapezium ABCD?

& 7% ngpfa #, wafearg s ABE &7 atawe 72
w2 & gur BE= ABaw AB =2 AD, AE|IDCE,

At FaelFd Iqgs ABCD &1 819%e (8.30.2 #)
FT Brem?

A D
o N
o
N 5
9 .
N N
R k-

[] N %

B E C
Options:
1) 108
2) 124
3) 136
4) 144

Correct Answer: 144
Candidate Answer: [ NOT ANSWERED ]

QID : 340 -
In the given figure, AC and DE are perpendicular to
tangent CB. AB passes through centre O of the
circle whose radius is 20 cm. If AC = 36 cm, what is

the length (in cm) of DE?

& 2 ety &, T @ CBW AC T DE wiFd
¥ X ABTE & &g fig 0@ IR & o
r=ar 20 .70 &1 afg ACH wFarg 36T, §,
A DEH wFars (@A F) Far Qeme
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Options:
1)4

2)6
3)2

4)8
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID : 341 - If 4sin B - 3 = 0 and 6 is acute, then what is the value of (cot? 8 + tan? 8)?

g 4sin? 6 - 3 = 0 TUT O FADBIT 8, A (cot? O + tan? ) T A T BHIT?
Options:

1)2

2)0

3) 10/3

4)6

Correct Answer: 10/3

Candidate Answer: 10/3

QID: 342-
cosB cosb
If ==t :
1+sinB 1-sinB
the value (in degrees) of 67

=4 and B is acute, then what is

cosB cosB
=4 gur 6 rq\?IEF;IU . 8
1-sin@ 1-sin® &

A (Bafh &) oam &2

Options:
1) 30

2) 45
3) 60

4) 90
Correct Answer: 60
Candidate Answer: 60

QID : 343 -
1 1

—  — _ then whatis the value of
sinB+cosecB8 2

sin% 9 + cosec'?g?

If

.1 '1 1 100
nCEw . 3 5+ 100 g
sinB+cosecB 2 € i &t

T AT FIT &7

Options:
1)-1
2)0
3)1

4)2
Correct Answer: 2
Candidate Answer: 1
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QID: 344 -
What is the value of

tan? 25°  cot? 25°

3 ot > +2tan20°tan45°tan70°7
cosec” B65° sec”B5°

tan?25°  cot? 25°
2 —
cosec” 65° sec” 65°

AT T &7

+2tan20°tan45°tan 70° A1

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 3
Candidate Answer: 4

QID : 345 - If cosec 6 + cosec? 8 = 1, then what is the value of (cot!2 8 - 3 cot10 8 + 3 cot® 6 - cot® 8)?

TfE cosec © + cosec? 8 = 1 8, @l (cot!? 6 - 3 cotl0 9 + 3 cot8 8 - cotd 8) BT A T B2
Options:

1) -2

2)-1

3)0

4)1
Correct Answer: 1
Candidate Answer: 1
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QID : 346 -
The pie chart given below shows the percentage
distribution of annual expenditure on various items
of a company. The annual expenditure of the
company is Rs 72 crores.

= Ry o g7 Ry & e Fueh & Affew <
W gr aifte = & ufdwa faayor @ gufar o
¥ FUST FT aNE T 72/ T, B

’ Salary / 3
Miscellaneous/ 15%
fafaer
24%
Tax / Y
25%
Interest / =TT
20% Operations/
W
16%

How much is the expenditure (in Rs crores) on Operations annually?

e IR aie el o (RIS . H) g3 82
Options:
1) 1.52

2) 7.14
3) 11.52

4) 1.152
Correct Answer: 11.52
Candidate Answer: 11.52
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QID: 347 -
The pie chart given below shows the percentage
distribution of annual expenditure on various items
of a company. The annual expenditure of the
company is Rs 72 crores.

= /T ow @ e # e Fuer & faffew wet
W g aiffe e & ufdwa faayor @ g o
¥ FUST FT aNE =TT 72/ T, B

’ Salary / 3
Miscellaneous/ 15%
fafaer
24%
Tax / Y
25%
Interest / =TT
20% Operations/
W
16%

What is the monthly expenditure (in Rs crores) on Miscellaneous by the company?

S gr1 fafdy W wiRie oo (HR)g %, H) F §?
Options:
1) 14.4

2) 1.44
3)1.21

4) 1.69
Correct Answer: 1.44
Candidate Answer: 1.44
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QID : 348 -
The pie chart given below shows the percentage
distribution of annual expenditure on various items
of a company. The annual expenditure of the
company is Rs 72 crores.

= /T ow @ e # e Fuer & faffew wet
W g aiffe e & ufdwa faayor @ g o
¥ FUST FT aNE =TT 72/ T, B

’ Salary / 3
Miscellaneous/ 15%
fafaer
24%
Tax / Y
25%
Interest / =TT
20% Operations/
W
16%

If 5% of Miscellaneous is spent on research of nanotubes, then how much is spent (in Rs crores) on research of nanotubes annually?

Ife; fafay BT 5% 1 ogF F STHY TR I BT 8, A A1 IF F STHYH TR aIies a1 o (318 %, W) §an &2
Options:

1) 0.864

2) 0.362

3) 0.544

4) 0.962

Correct Answer: 0.864

Candidate Answer: 0.962
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QID

1349 -

The pie chart given below shows the percentage
distribution of annual expenditure on various items
of a company. The annual expenditure of the
company is Rs 72 crores.

= /T ow @ e # e Fuer & faffew wet
W g aiffe e & ufdwa faayor @ g o
¥ FUST FT aNE =TT 72/ T, B

’ Salary / 3
Miscellaneous/ 15%
fafaer
24%
Tax / Y
25%
Interest / =TT
20% Operations/
W
16%

By what percentage is the total expenditure on Interest and Miscellaneous more that the total expenditure on Tax and Salary?

=Tt 9T fafdy R oot o3y, TR qUT 39 & S T | b ufad Sifie 82
Options:

1)2
2)1
3)8

41

0

5

0

Correct Answer: 10

Can

didate Answer: 10
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QID : 350 -
The pie chart given below shows the percentage
distribution of annual expenditure on various items
of a company. The annual expenditure of the
company is Rs 72 crores.

= /T ow @ e # e Fuer & faffew wet
W g aiffe e & ufdwa faayor @ g o
¥ FUST FT aNE =TT 72/ T, B

’ Salary / 3
Miscellaneous/ 15%
fafaer
24%
Tax / Y
25%
Interest / =TT
20% Operations/
W
16%

Total amount spent on Raw material is 50% of the total amount spent on Interest. If the ratio of amount of expenditure on Rent and Raw material is 1 : 2
respectively, then what will be the amount (in Rs) spent on Rent annually?

T U IR o9 Bl T8 Hl M ST TR B1 T8 Pt A BT 50 A 71 3fe v a1 F=d A1 R o0 Bt TS AR BT a1 R 1 : 2 8, o v R a1 o
B TS e AR (3. T @ g

Options:
1) 28000000

2) 36000000
3) 40000000

4) 32000000
Correct Answer: 36000000
Candidate Answer: 36000000

QID : 351 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He commanded me (1)/ as if he was (2)/ my husband. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 352 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The English is a very (1)/ popular language (2)/ amongst south Indians. (3)/ No Error (4)
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Options:

1)1

2)2

3)3

4)4

Correct Answer: 1
Candidate Answer: 4

QID : 353 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

This container is full with water (1)/ so I can't carry it for a (2)/ long distance at one go. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1

Candidate Answer: 3

QID : 354 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

If you will finish your homework I (1)/ will give you (2)/ an ice-cream. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 355 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Had she not known (1)/ about it she should (2)/ have stayed longer. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1

QID : 356 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I do not agree
Options:

1) to

2) of

3) with

4) on

Correct Answer: with
Candidate Answer: with

my colleagues in this matter.

QID : 357 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Rita is more beautiful than of her sisters.
Options:

1) any other

2) any

3) some

4) all

Correct Answer: all

Candidate Answer: any

QID : 358 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

When my mother entered the house, I sleeping.
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Options:

1) had been
2) should be
3) was

4) would be

Correct Answer: was
Candidate Answer: was

QID : 359 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Hearing of her grandmother's iliness, she at once started Mumbai.
Options:

1) for

2) upto

3) to

4) towards

Correct Answer: for

Candidate Answer: towards

QID : 360 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He from the crowd because of his height.
Options:

1) stood out

2) stood by

3) stood off

4) stood up

Correct Answer: stood out
Candidate Answer: stood out

QID : 361 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Vie
Options:
1) compete
2) cheerful
3) conceal
4) confuse

Correct Answer: compete
Candidate Answer: [ NOT ANSWERED ]

QID : 362 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Cavort

Options:

1) climb

2) crawl

3) jump

4) drag

Correct Answer: jump

Candidate Answer: [ NOT ANSWERED ]

QID : 363 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Brittle

Options:

1) fragile

2) dry

3) risky

4) demolish

Correct Answer: fragile

Candidate Answer: fragile

QID : 364 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Illuminate
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Options:
1) desirous
2) seizure
3) solitary
4) brighten

Correct Answer: brighten
Candidate Answer: desirous

QID : 365 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Embroil
Options:
1) curse
2) confuse

3) craggy
4) censure

Correct Answer: confuse
Candidate Answer: [ NOT ANSWERED ]

QID : 366 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Crestfallen

Options:

1) authentic

2) antique

3) triumphant

4) discordant

Correct Answer: triumphant

Candidate Answer: [ NOT ANSWERED ]

QID : 367 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Balmy
Options:
1) obscene
2) hard

3) noble
4) pleasing

Correct Answer: hard
Candidate Answer: [ NOT ANSWERED ]

QID : 368 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Docile
Options:
1) cheerful
2) willful

3) fertile

4) harmless

Correct Answer: willful
Candidate Answer: cheerful

QID : 369 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Slothful

Options:

1) lively

2) sinful

3) lazy

4) unnatural

Correct Answer: lively

Candidate Answer: [ NOT ANSWERED ]

QID : 370 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Furtive

Options:
1) hollow
2) wide
3) straight
4) narrow

Correct Answer: straight
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Candidate Answer: [ NOT ANSWERED ]

QID : 371 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

In deep water
Options:

1) To die

2) In great difficulty
3) To fail completely
4) To surrender

Correct Answer: In great difficulty
Candidate Answer: In great difficulty

QID : 372 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

In the egg
Options:

1) In an untidy state
2) In a dilemma

3) In an early stage
4) In bodily form

Correct Answer: In an early stage
Candidate Answer: In a dilemma

QID : 373 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Cutinon
Options:

1) Acknowledge
2) Interrupt

3) Evade

4) Produce

Correct Answer: Interrupt
Candidate Answer: [ NOT ANSWERED ]

QID : 374 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Draw a blank

Options:

1) Absent minded

2) To be unsuccessful
3) Come to an end

4) To fall a victim

Correct Answer: To be unsuccessful
Candidate Answer: To be unsuccessful

QID : 375 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Give up ghost

Options:

1) To feel superior

2) To overcome one's fear
3) To give encouragement
4) To die

Correct Answer: To die
Candidate Answer: To die

QID : 376 - Improve the bracketed part of the sentence.

She did not like the phone, (nor I did).
Options:

1) nor I like it

2) nor I liked it

3)nordidI

4) no improvement

Correct Answer: nor did I
Candidate Answer: nor did I

QID : 377 - Improve the bracketed part of the sentence.

You (will have to) return my Mac book whenever I ask for it.
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Options:

1) should

2) will have

3) would have to
4) no improvement

Correct Answer: no improvement
Candidate Answer: should

QID : 378 - Improve the bracketed part of the sentence.

My father asked me when (would I) have a cup of coffee.
Options:

1) I would

2) I shall

3) Iwill

4) no improvement

Correct Answer: I would

Candidate Answer: [ NOT ANSWERED ]

QID : 379 - Improve the bracketed part of the sentence.

Rohan is (as fast as) or perhaps faster than Suresh.
Options:

1) almost as fast

2) as fast

3) equally fast

4) no improvement

Correct Answer: as fast
Candidate Answer: [ NOT ANSWERED ]

QID : 380 - Improve the bracketed part of the sentence.

When Rahul was just thirteen he (sat) the entrance examination for senior secondary school.
Options:

1) satin

2) sat at

3) sat for

4) no improvement

Correct Answer: sat for
Candidate Answer: sat for

QID : 381 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Property inherited from one's father
Options:

1) vale

2) patrimony

3) legacy

4) trench

Correct Answer: patrimony
Candidate Answer: patrimony

QID : 382 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Government by person of highest social order
Options:

1) bureaucracy

2) plutocracy

3) democracy

4) aristocracy

Correct Answer: aristocracy
Candidate Answer: aristocracy

QID : 383 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Study of ancient things like tombs, buried towns
Options:

1) paleontology

2) nomology

3) archaeology

4) genealogy

Correct Answer: archaeology
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Candidate Answer: archaeology

QID : 384 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

To banish or turn out of society and fellowship
Options:

1) acrobat

2) diatribe

3) ostracise

4) jurist

Correct Answer: ostracise

Candidate Answer: [ NOT ANSWERED ]

QID : 385 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Rebellious or opposing the authority
Options:

1) insurgent

2) intransigent

3) indigenous

4) innuendo

Correct Answer: insurgent

Candidate Answer: [ NOT ANSWERED ]

QID : 386 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) conscience

2) continuity

3) councillor

4) conceit

Correct Answer: councillor

Candidate Answer: [ NOT ANSWERED ]

QID : 387 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) distillation

2) discusion

3) dysentery

4) diesel

Correct Answer: discusion

Candidate Answer: diesel

QID : 388 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) triumph

2) torchure

3) tyrant

4) thesaurus

Correct Answer: torchure

Candidate Answer: [ NOT ANSWERED ]

QID : 389 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) mediteranean

2) miscellaneous

3) municipality

4) missionary

Correct Answer: mediteranean

Candidate Answer: missionary

QID : 390 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) psychiatrist

2) proclaimation

3) legitimacy

4) tranquility

Correct Answer: proclaimation

Candidate Answer: tranquility
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QID : 391 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

For better or for worse, we are living in a which is based physically on western science and technology. This has consequences for the scientist. Initially
he was an force in the unfolding of human . This he can no longer be. As Neils Bohr has said, scientists must become of the fact that they are
not merely observers, but also actors on the stage of life.

For better or for worse, we are living in a which is based physically
Options:

1) world

2) society

3) environment

4) locality

Correct Answer: society

Candidate Answer: environment

QID : 392 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

For better or for worse, we are living in a which is based physically on western science and technology. This has consequences for the scientist. Initially
he was an force in the unfolding of human . This he can no longer be. As Neils Bohr has said, scientists must become of the fact that they are
not merely observers, but also actors on the stage of life.

This has consequences for the scientist.
Options:

1) inescapable

2) mere

3) sharp

4) evitable

Correct Answer: inescapable

Candidate Answer: [ NOT ANSWERED ]

QID : 393 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

For better or for worse, we are living in a which is based physically on western science and technology. This has consequences for the scientist. Initially
he was an force in the unfolding of human . This he can no longer be. As Neils Bohr has said, scientists must become of the fact that they are
not merely observers, but also actors on the stage of life.

Initially he was an force
Options:

1) accidental

2) incidental

3) initial

4) interesting

Correct Answer: accidental

Candidate Answer: [ NOT ANSWERED ]

QID : 394 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

For better or for worse, we are living in a which is based physically on western science and technology. This has consequences for the scientist. Initially
he was an force in the unfolding of human . This he can no longer be. As Neils Bohr has said, scientists must become of the fact that they are
not merely observers, but also actors on the stage of life.

in the unfolding of human
Options:

1) deeds

2) culture

3) destiny

4) needs

Correct Answer: destiny
Candidate Answer: needs

QID : 395 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

For better or for worse, we are living in a which is based physically on western science and technology. This has consequences for the scientist. Initially
he was an force in the unfolding of human . This he can no longer be. As Neils Bohr has said, scientists must become of the fact that they are
not merely observers, but also actors on the stage of life.

scientists must become of the fact that they are not merely observers
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Options:

1) active

2) gauge

3) conscious
4) sure

Correct Answer: conscious
Candidate Answer: sure

QID : 396 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The size of the workforce in Brazil, the number of kids at home and parents to sustain will obviously have a great impact on the extent of poverty in Brazilian
households. In fact, the demographic transition that has been ongoing in Brazil for the past few decades has helped a lot in reducing poverty. Less children were
born in poorer families and that's less children that ended up involved in street violence, drugs, gangs and so on. More parents were then able to push their kids to
go to school and get an education.

Of course, the situation is still pretty bad in Brazilian slums (favelas), but it's estimated that the demographic transition had an impact equivalent to + 0.5% in GDP
growth, which is not bad at all considering that the average GDP growth (per capita) was about 3% per year at the time. And since this transition happened over 30
years, its impact on the economy is equal to around 15% of growth in GDP (over three decades). Overall, the change in the family structure and in Brazilians'
lifestyle has had a much greater impact on reducing poverty than the speed of the demographic transition itself. On the other hand, the transition did have an
influence on wages (e.g. supply of labor) and interest rates in a way that worsened poverty in Brazil (less overall income).

According to the passage, which of the following doesn't have an impact on the extent of poverty in Brazilian households?
Options:

1) number of kids at home

2) size of the workforce

3) parents

4) nature of job

Correct Answer: nature of job
Candidate Answer: nature of job

QID : 397 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The size of the workforce in Brazil, the number of kids at home and parents to sustain will obviously have a great impact on the extent of poverty in Brazilian
households. In fact, the demographic transition that has been ongoing in Brazil for the past few decades has helped a lot in reducing poverty. Less children were
born in poorer families and that's less children that ended up involved in street violence, drugs, gangs and so on. More parents were then able to push their kids to
go to school and get an education.

Of course, the situation is still pretty bad in Brazilian slums (favelas), but it's estimated that the demographic transition had an impact equivalent to + 0.5% in GDP
growth, which is not bad at all considering that the average GDP growth (per capita) was about 3% per year at the time. And since this transition happened over 30
years, its impact on the economy is equal to around 15% of growth in GDP (over three decades). Overall, the change in the family structure and in Brazilians'
lifestyle has had a much greater impact on reducing poverty than the speed of the demographic transition itself. On the other hand, the transition did have an
influence on wages (e.g. supply of labor) and interest rates in a way that worsened poverty in Brazil (less overall income).

What has helped Brazil in reducing its poverty?
Options:

1) education of kids

2) demographic transition

3) Brazilians Lifestyle

4) initiation of peaceful activities

Correct Answer: demographic transition
Candidate Answer: demographic transition

QID : 398 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The size of the workforce in Brazil, the number of kids at home and parents to sustain will obviously have a great impact on the extent of poverty in Brazilian
households. In fact, the demographic transition that has been ongoing in Brazil for the past few decades has helped a lot in reducing poverty. Less children were
born in poorer families and that's less children that ended up involved in street violence, drugs, gangs and so on. More parents were then able to push their kids to
go to school and get an education.

Of course, the situation is still pretty bad in Brazilian slums (favelas), but it's estimated that the demographic transition had an impact equivalent to + 0.5% in GDP
growth, which is not bad at all considering that the average GDP growth (per capita) was about 3% per year at the time. And since this transition happened over 30
years, its impact on the economy is equal to around 15% of growth in GDP (over three decades). Overall, the change in the family structure and in Brazilians'
lifestyle has had a much greater impact on reducing poverty than the speed of the demographic transition itself. On the other hand, the transition did have an
influence on wages (e.g. supply of labor) and interest rates in a way that worsened poverty in Brazil (less overall income).

According to the passage, Brazilian children born in poorer families were not involved in which kind of activity so often?
Options:

1) bullying

2) street violence

3) gangs

4) drugs

Correct Answer: bullying

Candidate Answer: bullying
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QID : 399 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The size of the workforce in Brazil, the number of kids at home and parents to sustain will obviously have a great impact on the extent of poverty in Brazilian
households. In fact, the demographic transition that has been ongoing in Brazil for the past few decades has helped a lot in reducing poverty. Less children were
born in poorer families and that's less children that ended up involved in street violence, drugs, gangs and so on. More parents were then able to push their kids to
go to school and get an education.

Of course, the situation is still pretty bad in Brazilian slums (favelas), but it's estimated that the demographic transition had an impact equivalent to + 0.5% in GDP
growth, which is not bad at all considering that the average GDP growth (per capita) was about 3% per year at the time. And since this transition happened over 30
years, its impact on the economy is equal to around 15% of growth in GDP (over three decades). Overall, the change in the family structure and in Brazilians'
lifestyle has had a much greater impact on reducing poverty than the speed of the demographic transition itself. On the other hand, the transition did have an
influence on wages (e.g. supply of labor) and interest rates in a way that worsened poverty in Brazil (less overall income).

What has impacted on reducing poverty in Brazil than the speed of the demographic transition itself?
Options:

1) Brazilians lifestyle

2) change in family structure

3) awareness among citizens

4) Both Brazilians lifestyle and change in family structure

Correct Answer: change in family structure

Candidate Answer: Both Brazilians lifestyle and change in family structure

QID : 400 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The size of the workforce in Brazil, the number of kids at home and parents to sustain will obviously have a great impact on the extent of poverty in Brazilian
households. In fact, the demographic transition that has been ongoing in Brazil for the past few decades has helped a lot in reducing poverty. Less children were
born in poorer families and that's less children that ended up involved in street violence, drugs, gangs and so on. More parents were then able to push their kids to
go to school and get an education.

Of course, the situation is still pretty bad in Brazilian slums (favelas), but it's estimated that the demographic transition had an impact equivalent to + 0.5% in GDP
growth, which is not bad at all considering that the average GDP growth (per capita) was about 3% per year at the time. And since this transition happened over 30
years, its impact on the economy is equal to around 15% of growth in GDP (over three decades). Overall, the change in the family structure and in Brazilians'
lifestyle has had a much greater impact on reducing poverty than the speed of the demographic transition itself. On the other hand, the transition did have an
influence on wages (e.g. supply of labor) and interest rates in a way that worsened poverty in Brazil (less overall income).

What does the term 'favelas’ used in the passage refers to?
Options:

1) street kids

2) slums in brazil

3) interest rates prevaling in brazil

4) labour supply

Correct Answer: slums in brazil
Candidate Answer: slums in brazil
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